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04 JIZH22NEES 9,000 9,000 0
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= 1,200
o 1,200
SEYETE A5 52,250 0 52,250
s 16,875
o 35,375
201 Let2dY] 16,250 0 16,250
= 4,875
s 11,375
01 AtR2teldl 16,250 0 16,250
Ot 6,250
—deided 22X ME 25,000 » 2509 6,250
< 1,875
= 4,375
Oo2g8=+¢g 10,000
—0IS02 24L= 42X SA=+E
200,000 * 502 10,000
= 3,000
= 7,000
206 W24 10,000 0 10,000
= 3,000
o 7,000
01 M=8l 10,000 0 10,000
OMZHl 10,000
—O0IS02 24:= 423 usHE
0,000 » 105 * 202/ 10,000
= 3,000
= 7,000
301 &EtE =S 10,000 0 10,000
s 3,000
o 7,000
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= 214,000
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= 23,095
& 21,000
[ ,490,393
SEXNEI|8 &= ,480, 188 419,989 1,060,199
= 214,000
= 253,000
= 3,000
= ,010, 188
SI|H CHA ALE 149,474 32,415 117,059
101 el4H| 19,774 6,215 13,559
04 JI2ZtMZ22XNsSE+ 19,774 6,215 13,559
OsJAHuNEEY ¥ 2L
35,310 = 28 = 280 19,774
201 LBr23| 39,500 15,000 24,500
01 AtSR2t2ldl 5,000 10,500 A5,500
Oggt+=2Y| 5,000
—SIHSEAME & HsIIHA=HERZLS
10,000 * 1008 * 23] 2,000
~HEIIH U MEEEAN 242
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02 =234l 34,500 4,500 30,000
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—SJIHLUEEH RANES
100,000 = 15CH = 33l 4,500
—AdU=sIIH A2 300,000 * 100CH 30,000
206 M= Hl 17,000 10,000 7,000
01 =4l 17,000 10,000 7,000
ORgzs sIH =285+
5,000 = 1005 * 103 5,000
OsJIAHHEH 28 e+ 100,000 * 208 2,000
OYdl=sIIH 237 100,000 * 1005 10,000
301 LEtEAZ 1,200 1,200 0
10 dAtAHIBA S 1,200 1,200 0
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6,000 » 20 = 103 1,200
401 AIEHIZ 20 20,000 0 20,000
01 Al&H| 20,000 0 20,000
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405 Kot S| 52,000 0 52,000
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= 13,000
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03 RIHL 22X E S 26,000 44,000 A 18,000
OELZEA EXRA 14,000,000 * 14 14,000
= 7,000
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12,000,000 * 14 12,000
= 6,000
o 6,000
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04 JI12ZtMIZ2E2NsSE> 37,430 0 37,430
OJI2ZHH 22X 29 37,430
—SYOICHH HALZS AtHES2H
5,310 * 19 = 280 9,887
—MEDSDSH 2
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—s&AE BEXEREA 35,310 * 69 = 120 25,424
201 LEt29H| 287,284 231,574 55,710
01 A2 2eltl 14,850 15,000 A 150
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ozg=¢ 5,650
— A 50,000 » 1% * 113 5,650
o=yl 1,800
~HAR2Y 2 SIINHELY
180,000 * 5% =« 23| 1,800
3322l 272,434
Oz32= & HA 81,814
—EFANAIIRB 2,600,000 = 12& 31,200
SE20MESHdE M2 700,000 * 128 8,400
—sJH=cldly & AgANIIRs
700,000 = 12& 8,400
—sSENEMZEE 52 2 GA7E 4,560
H 250 = 76001 = 12& 2,280
SEHAAN 250 * 76000 * 123 2,280
—XNEZALE XS IHA 2,670
= 350,000 = 1CH 350
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== 260,000 * 4CH 1,040
—XNEAEE HSEES 4,000
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St= 400,000 * 3CH 1,200
sE 400,000 * 4CH 1,600
—XSESIMERE S 42,800 * 60 * 23] 514
—HESINERE S 200,000 * 23| 400
—EMEESA 500,000 * 33| 1,500
—JIANES 70,000 » 123 840
—ENEIAEEF LT 330,000 = 12& 3,960
—HollSL M B MEIA(SMS) 195,000 * 68 1,170
—&ot=ER23 500,000 * 123 6,000
— A g otM 2tel | 300,000 * 123l 3,600
— A OtNEEDIARS 200,000 * 23| 400
—SUSAZYAAE MEMARF
350,000 * 123 4,200
OH 2 Hl 77,680
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1,000,000 = 5CH 5,000
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—OEHUSADSB AL 22
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—JAd, 84 2EtR A2
800,000 » 10CH 8,000
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180,000 » 12& 2,160
- NS EE(ARS) A2+ 90,000 = 12& 1,080
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Ot et 20,000
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—AESE 2,000,000 = 4CH 8,000
—AESE 2,000,000 = 2CH 4,000
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WA SAE2E N 10,000 10,000 0
= 3,000
= 7,000
101 Q12| 10,000 10,000 0
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o 7,000
04 JIZHNZZ2XASE=> 10,000 10,000 0
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2 5,000
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= 25,000
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= 25,000
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405 KHAHE SH 16,000 16,000
= 8,000
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01 ML SEFSH| 16,000 16,000
SEZXE&H 2 16,000,000 16,000
2 8,000
= 8,000
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2 20,000
= 20,000
206 K24l 5,000 5,000
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= 2,500
01 M2Hl 5,000 5,000
OUEE ME(LL £ 1058) 5,000,000 5,000
2 2,500
= 2,500
405 KHAHE SH 35,000 35,000
2 17,500
= 17,500
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= 18,000
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= 13,560
2 26,400
101 2121t 13,560 15,679 A2,119
= 13,560
04 JIVH22HS L4 13,560 15,679 A2,119
ORSP=Y ESAZAZHA
35,310 * 6% * 82 * 23] 3,390
= 3,390
OsM8 HSABHS 22X
35,310 * 6% * 82 + 63 10,170
= 10,170
201 LBty 12,400 8,900 3,500
01 ALR eIt 4,400 1,900 2,500
OsragY| 4,400
—EUAWAAI U HULHD
500 * 1,000kg 500
—HHEIIRNBY BENN
5,000 * 205 * 43l 400
—HHELH ¥ BAHIRENF) B
50,000 * 10% * 13| 500
—oi3 2CH2Y
30,000 * 1002 3,000
02 ZT2Y 8,000 7,000 1,000
OAN&H 8,000
=% ZHHIRX 2L
200,000 * 55 1,000
Y x 2l
200,000 * 105 2,000
— Tt BV
100,000 * 10% 1,000
—#g SR 2L
400,000 * 10% 4,000
206 W2 14,000 20,750 26,750
01 T2l 14,000 20,750 26,750
OEgzE o 1,000
—EY 2 (XNES)
150,000 * 20% 3,000
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OII=sEYEIHA R 3,000
—IIISEYIHA2INZ 150,000 * 20& 3,000
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= 9,535
= 114,097
101 o1 24Hl 36,482 36,482 0
= 9,535
= 26,947
04 JIZHMIZ2ZAsEx 36,482 36,482 0
OsAMEstsZE2Y
5,310 * 3Y * 52 * 43| 2,119
= 2,119
QHIotIIA2g 7,416
—AlHl 2 2relE
35,310 * 6 x 7 x 53| 7,416
= 7,416
OMZNE 3122 29 8,476
—AT % B
35,310 * 6% * 42 53] 4,238
—F#Fel ¥ MEXY
5,310 * 6% * 42 * 53] 4,238
OMNEZ ZSATANZ2Y 4,238
~HA Y BARY
35,310 * 2& = 32 x 103 2,119
~ME L Yohs A
5,310 * 2% x 32 * 103/ 2,119
O SEANERY 3,814
—ATH & 242 &Y
35,310 * 4 x 3L x 43| 1,695
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OQIIANLZ I =& 3,178
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OUASHAZESH 2,473
—-s 2 82 35,310 * 3Y * 52 * 23| 1,060
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35,310 * 4% x 52 x 23] 1,413
OldaZ2=24 2 4,768
—=3t2e| &Y 35,310 * 48 = 32 * 53| 2,119
-S4 2 0|A AN
35,310 * 5% x 32 x 53| 2,649
201 Y2 Y| 8,000 6,000 2,000
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OSHSHHEISHELRY 50,000 « 05 1,500
OSMAHANZLSY 300,000 * 105 3,000
oxEAMSHTA 29 7,000
—HE=Z2 500,000 = 108 5,000
— =& Al 200,000 = 105 2,000
SPENELEPE-T- 10,000
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—so 3 H2 30,000 * 10% * 53| 1,500
—=Jl=+7¢ 4,000 = 800Z * 23] 6,400
OOM3IEI DI Z R 2 6,000
—o=s € s27Y 6,000 » 50& » 20= 6,000
OJINZIl 2SAEEE2S 6,000
~—gJl2 2 HE 4,000 * 1,500% 6,000
OAUEXNSHANELRY 50,000 = 40& 2,000
Ou2ca 29 8,750
—&&E 2 HZ 5,000 = 1,000 5,000
—SR4TNEs M= 5,000& = 1568 503! 3,750
ON&BIRARY 9,500
—ME QYR 15,000 * 300% 4,500
—XEHE 2 BE2XM 200,000 = 108 2,000
~Z2 2 EX(ENE, DES)
500 * 3,000 * 23] 3,000
srsYRNeY 55,287 40,647
101 Q14| 9,887 9,887
04 JIAH2RRNS S+ 9,887 9,887
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sz 5,000 5,000 0
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OXBRE U +WELEESE
150,000 * 1005 15,000
ONEEEXE L 2ATR 100,000 + 1005 10,000
NSFDI2 L IIBA 29 29,774 800,000 AT70,226
o121 4| 19,774 0 19,774
IZH2RIES S 19,774 0 19,774
OUSHIDSZ L IIBA 29
35,310 * 2% * 2802 19,774
sty 10,000 0 10,000
NEEIENT 10,000 0 10,000
SLEER-=1i 0
CNEETTES 10,000
~OSRDSD L JHBA FUIKX
200,000 * 505 10,000
SEOME HIME 2 212,647 180,627 32,020
101 @121t 9,887 9,887 0
04 JIAHZ2REL4 9,887 9,887 0
ODIMSH YA AR E
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st y) 27,760 20,000 7,760
N 2,000 0 2,000
LR 2,000
—REIMSESDSNENT
10,000 * 20004 * 1] 2,000
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01 T2l 171,500 133,240 38,260
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101 @121t 50,000 0 50,000
= 15,000
2 35,000
VIS TEES TR 50,000 0 50,000
ODME0IS AeYsY |4 50,000,000 50,000
= 15,000
2 35,000
B 10,000 0 10,000
= 3,000
2 7,000
206 W& 5,000 0 5,000
= 1,500
2 3,500
01 T2 5,000 0 5,000
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| =28l 59,185 64,860 A5,675
201 Let2d| 28,340 28,140 200
01 AtE22|Hl 28,340 28,140 200
Oget=g| 23,840
— gAY 2 ME 150,000 * 43| 600
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